Maths Week 14

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.
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Comparison, Sum and Difference

1a. Georgia says,

There are 10 more
ducks than squirels.

1. Frankie says,

than mystery.

Animals af the Park Favourite Type of Book
swans [comedy]
Ducks sci-Fi
Dogs Fantasy
squirrels Mystery
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2a. Circle the odd one out of A, B and C.

2b. Circle the odd one out of A, B and C.

Day Houses sold Birds in the Garden | Number Counted
Friday 2 Robin 1
saturday ¢ igeon ¢
sunday s Magpie B
Monday 1 sparrow s

A.Ten houses were sold altogether.
B. Most of the houses were sold on the
saturday.

€. 1 house was sold on Monday.

b7

Explain your reasoning. ‘

A. The most common bird in the garden
was the robin.

B. There were 15 birds altogether.

C. The robin was the least common bird.

%

Explain your reasoning. .

fewer children go in the car than walk.

Two more children travel by bus than car.

Method of Transport fo School

3b.

the missing data.

There are more Fords than Nissans but
fewer Fords than Vauxhalls.

There is 1 more Kia than Nissans.

Make of Cars in the School Car Park
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Comparison, Sum and Difference

There are 20 more
parsnips than leeks.

Number of Vegelables in an Allotment

4b. Darren says,

There is 100mm more
in in April than July.

Average Rainfallin Aushralia (mm)

0 20 40 60 80 100 120
iy 1sshe comect? Convince me.

Carrots April
Parsnips May
Leeks June
Onions oy

0 20 40 60 80 100120
iy lshe comect? Convince me.

sa.

le the odd one out of A, B and C.

5b. Circle the odd one out of A, B and C.

Distance fo school | Number of Children ||| Museum Exhi Number of Visitors
0-1km 20 Dinosaurs 70
1-2km 0 Egyptians 30
2-3km 10 space 80
3-4km 10 Nature 20

A. The data shows the distance fo school

for 100 children.

B. Most of the children live 0 - Tkm away.
e 1-2km away.

Your reasoning. ‘

was the

B.70 people visited the Dinosaur Exhibi
C. There were 200 visitors altogether.

Explain your reasoning. .

g data.

There were fewer votes for Animals than
Rainforests but more votes than Romans.

There were 10 fewer votes for Explorers
than Romans.

Year 4's Favourite Topic

There are § more lilies than roses.

Flowers in the Garden Centre
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